B ox5=_[S

ol Tx A= T

| 1@ xi12-=0x
L6 +23=89
13-18= =5
7ox "9 =63

100 x 13 = /300
L 0i6= 2.4

f 6x5= 30

[ 69- 2 =-13
B 7x_§ =56

| 8xi9= 72

L 05=30
A7+ 20 =45
1l +10=7r1
s eisi—2i

|55 + 102 = 257

7x 5 =

¥ x9=72

A I 16
-3x20= -LO_

|l x5=55
et

L5 Xl0Ni=3'5

80 x 7 =560
300+5=(0
3.2 +08=04
9x500=04500

810 + 90 = 9
14x7=_9¢

Triple 15 ISt s
What are the factors of 187 L 3, 6.9,1
“What is 28 greater than 897 ﬂ%’ / /7
State the difference betweeh -8and 7 /o 5
‘What is 30 d|V|ded by 3’? ) O |
Square 8 [94




e " | is only a quarter left?

.| What is the remainder when 59 is

| divided by 7? hi

lokts Cube 7 e

°l Olotsof 12are |0
| | have nineteen 20p coins. How much

. do | have altogether? /3. §¢

A mug can hold 450ml of coffee. How
much coffee is it holding when there

N/ 112 -5ml

| What is the area of a trampoline if the

= length is 14m and the width 9m? | 2bm?
A sofa holds 4 people. How many

| sofas must there be if there are 23

people sitting down?
| Arocket goes around the moon in

” | | 13.3 seconds. How many times can it
~ | goaround in 3 minutes?

bt
| receive £1.00 pocket money a

| week. 1/5 goes to charity, and half
" towards sweets. How much do | have

B (cft? 30, b

Total out of 45 =

Double Red
Chilli Challenge

—

(2)




